Gz

MBETUC
Utility Cart

ASSEMBLY INSTRUCTIONS Tools Needed for Assembly:

Step 1

Place the Locking Top and Drawer Unit (#1) on its back. Carefully open the Locking Top and
lay it back against the ground.

Step 2 Slide chrome legs (#2) into square holes in corners of Locking Top (#1) until bolt holes are
aligned at top of legs. Fasten using bolts, flat washers, lock washers and nuts provided.
Phillips
Step 3 Slide bottom tray (#7) onto legs and fasten as in Step 2.
Step 4 Insert casters (#8, #9) into the hole of plastic inserts (#12). Bolt Kit (#10) included for
NOTE: Insert the two locking wheels (#8) at the same end of the cart. attaching legs and tray to
Step5  Return cart to upright position. MBETUC cart:
Step 6 Using the screws provided, install drawer handles by aligning pre-drilled holes in drawers
with slots in handle. Tighten all screws securely. ((Z/?Z/z ) (12)
6mm x 42mm
® ©
(12) - (12)
(12 g (12)@
PARTS LIST
Item Part No.
No. No. Req’d Description
2 RSETUC02 2 Legs/each
3 RS8008LK 1 Lock w/Keys
4 RSBSLIDEC-2 3 Clip-On Roller Ball Bearing Slides (Pair)
5 MBDETUC1 1 3" Drawer
6 MBDETUC2 2 4-1/2" Drawer
7 MBSETUC 1 Bottom Tray
8 RS5LCA 2 5" x 1-1/2" Locking Caster/each
9 RS5NLCA 2 5" x 1-1/2" Non-locking Caster/each 4
10 RSETUCBK 1 Bolt Kit
11 RS8002BR 2 Bracket (with screws, nuts & washers)
12 RSINS 1 Set of 4 plastic inserts

Also Available:

8006HDL
8006HDLB
RSETUC5LK

Chrome Drawer Handle
Black Drawer Handle
5 Piece Drawer Liner Kit

1 Rev. 10/24/05



